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5195 For the mstant representd, when crank OA pases
thehorizontal poston, determine the veloety of the
cente 7 of ik AR by he method of ths arice,
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5/96 The bar AB has a clockwise angular velocity of
f rad/sec. Construct and determime the vector velocity
of each end 1f the mstantaneous center of zero veloe-

ityis (@) at C, and (b) at Cs,

{lwl\/fq«P{/}g I»F @ Tec=¢ Cb) T 26,

50 (,p\/‘)llrd——‘s

@I'C @}
fwfzgz Ve _ Va
GRB A
5. " w
g//Z L’I/{}Z
V. .
A= wzz’zwd {1/,
V
NI &/
QECSCZ
D
2 Wﬂgrs‘_' VAﬁ» p Z
G A G R
5 g
32
S < ‘/ﬁ





image9.jpeg
8197 The bar of Prob, 581 s reeated here. By the method
ofths ticl, dedermine the veloty ofend A Both
ends remain n contact with ther espectiv support
sirfees
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5/101 Motion of the rectangular plate P is controlled by
the two links which cross without touching. For the
instant represented where the links are perpendic-
tlar to each other, the plate has a counterclockwise
angular velocity p = 2rad/s. Determine the corre-
sponding angular velocities of the two links,
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5/102 The mechanism of Prob. 5/34 1s repeated here. At
the instant when x, = 085L, the velocity of the
slider at A 18 v = 2m/s to the right. Determine the

corresponding velocity of slider B and the angular
velocity  of bar AB1f L, = 0.8 m,
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5/99 The linkage of Prob. 5/80 is repeated here. At the

-

il => V) s 0.257( a@/?

instant represented, crank OB has a clockwise
angular velocity w = 0.8 rad/sec and is passing the
horizontal position. By the method of this article,
determine the corresponding velocity of the guide
roller A in the 20° slot and the velocity of point C
midway between A and B.
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5/100 Motion of the bar is controlled by the constrained
paths of A and B. If the angular velocity of the bar

18 2rads counterclockwise as the position § = 45°
18 passed, determine the speeds of points A and P
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5/94 The circular disk of Prob. 564 is repeated here, If
the disk 15 released very near the horizontal surface
with v = 0.7m/s and w = 2 rads, locate the instan-
taneous center of rotation and determine the veloci-
ties of pomts A and P of the disk.
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5/91 The slender bar 1 moving in general plane motion
with the indicated linear and angular properties.
Locate the instantaneous center of zero velocity and
determine the velocities of points A and B,
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9192 The slnder bar s moving In gener plane motion
with the mdeated e and angula propertes,
Locate the Instantaneous center of e veloety and
determinethe velocties of ponts A and B
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5193 The figure for Prob. 583 5 repested e, Sofe o
the angular vebocty of OB by the method of ths
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